DT PNTY

The mwn says:

IR DR 21095 7730 XM Y 7Y s -

In order for a person’s clothing to become XV by staying in a
house which has a 33, he has to stay there for the amount of
time it would take to eat half of the standard loaf used for an
v . ANXA XM Aavsn
In order for a person to become 1312771 RV by eating XL
food, he has to eat one quarter of the standard loafused for an
27D

1/4 1/2

According to X721 32 3nv " a standard loaf'is 6 oya.
The v for vmmwn mais 3 oy NPY92 13 13 9
The mw for 71 NR 51095 is one-and-a-half oy,

| ”
. According to pwnw 17 a standard loaf'is 8 oy2. P ‘ a
The M w for yymn mais 4 oy,
| )0 000 000
000

The M w for i NR M09 is 2 oY a.
19 *39

Rashi in the Mishnah points out, that only regarding *217p
Pminn, where we are more lenient, did w»w »21 consider a
third of a loaf'a nmyo, but regarding y»3»n n°a which is
RnIRT, only halfa loaf'is considered a nmyo.

This is commonly referred to as

079 NN T -

The amount of time it takes to eat half a standard loaf.

The X2 adds PHIIR NRPIO RHVS 777 XM 03 -

In order for xnv food to make other food x»v it has to be 1/8 AP? 7
the size of a standard loaf, SN XM XM

Rashi explains;

According to X722 3n» " that a standard loaf'is 6 o'y>3,
one-eighth would be 3/4 of an egg.

According to py»w 17 that a standard loaf'is 8 o»3, it would

1/8

be 1 egg. npme a9 NP2 §2 e
Tosfos points out, that in all of Shas it says;
POIR NIRPIO RHVH 103 - » @
which is in accordance with pynw a9, YYY
. 00 00
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The reason our m3wn did not mention this last 71257 is

PTTA2 FNYW N ROT DWW -

because the proportion is not 100% accurate, since there are
different opinions for the amount of X»>v food a person has to
eat to become 131277 XY, and two slightly different opinions
for the amount of food that can be Xnon other food, none of
which line up to make P> N exactly half of the myw
for making a person who eats it Rv.

SN XM T ol
different opinions
W/Z"/ff:/on/z‘ bine wp

1/4 to W%//W%

P01 7271 1T 727 727 7 RTOM 27 IR RO 720797 IR -

The amount of X»v food that a person would have to eat to

become rnv is roughly two eggs according to *17,777 29

oy and '217 (thought they disagree slightly whether it is just
. under 2 eggs or just over and how much over), butja 3n "

7”71 holds it is 1 and a half eggs measured loosely (mpmw). E ating ROV fOOd

a2 AR 27019, AT AT

112 EGGS
2 EGGS
1) (1)

MR M7 227 RNX * - Rav Dimi said that somebody once sent
17 a RO that measured to be the volume of 217 eggs.

The 812 points out that whichever historical standard for a FIND 217 eggs
RO we are using, it would not equal 217 eggs - it would be
either 144, 173 or 207 eggs? Pd

ATNO would be
either 144, 173 or 207 eggs’

The xmx answers that °21 holds that a ©79 is not exactly 2
eggs, but 2.1 eggs, so the 207 eggs of the nxo would really be
just a fraction more than 217 eggs. )
. ! = A©W is not exactly 2 eggs
but 2.1 eggs

wn
RPN

Mishkan
Yecheskel

il

Dedicated By.’ DafHachaim.org Eruvin 83 -2




wn
RPTTY

DT PNTY

We just referred to three different measures of a nxo.
132710 - The Rn»92a traces how the size of a ixo changed over
time.

The original measure of a nX© in the 727 was 144 eggs - each
RO is 6 2P, each 27 is 4 1 and each 15 is six O'x’2.

When the Jewish people came to o>w1y they increased the
measure by 1/5 which brought the nxo to 173 (actually 172.8)
eggs. In 9% they added another 1/5 and the nXo became 207
(actually 207.36) eggs.

The Gemara refers to the increase as mnw - a sixth, which is
what we call a fifth.

As Rashi explains, it is a 725 mnw - literally, from the
outside.

We calculate fractions 15 - literally, from the inside.

20 out of 100 is 1/5.

20 out of 120 is 1/6.

(show as fraction, 20 over 100 and 20 over 120 - erase when
done)

Houw the size of arxo
changed over time

2O

gy Mo
' 111

RO IND

Increased by Increased by
1/5 1/5

mnw

We call a
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DOMO*IY MWRI 112710 -
The Torah commands to take the first part of your dough as
mom, and give it to the jno.

The rm3 learns from the fact that the Torah refers to it as -

your dough - that we are only 2711 to be n5n won from a n:r“lcb-,g, nwah,
dough that is at least as big as the dough the Jews ate from
the > in the 7277 your dough

As big as the dough
the Jews ate from the 12

Regarding the j» the Torah writes;

N7 ORI PPV MWW -

Each person’s portion was 1/10 of an Do,

AnnoR is 3 7RO, ﬂ"")i’wb
. As we learned earlier, a IR0 in the 9271 was 144 eggs - each

7RO is 6 2p, each 2p is 4 »5 and each 21 is six 0’2 - Three IRO h ENH

have 432 eggs - of which 1/10is 43.2 eggs.

1/10 of an
SN
=43.2

EGGS

From the fact that the Torah uses this measurement for the
non 2rn we see that it is the proper amount of food to eat in a
day. Somebody who eats more than that is a jnay- - a glutton,
and somebody who eats less than that will be »y»a S5pmpn -
messed up in his stomach.

MORE INESS

P aYs Spbhwpn
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IRt the mwn -

127V RY1 MWW NOOID MWIRI IXM WIR
9375 RIM MO NOOWMS DoV » MW 5 - OB AN XA BN
In a case of people who live in a 93n, and people who live in Y N5y Yo

an upper story, where they each made a separate 217, but did
not join together in one 217y - any area more than ten D'novV =952 s
off the ground belongs to the people who live on top, while -] |-| oyman
the area within ten o0 from the ground belongs to the I,. U'—-

people in the 7xn. For example; j noI5nY
M7 on - if there is dirt piled around a pit ten ©nov high,
and it is within four onov of the upper story, it belongs to the
people who live in the upper floor.

To clarify the guideline that, an area is assigned to those for
whom it is easier to use, the X lists six cases of areas
accessible to two m~3n who have each made a separate 117,
but did not join together in one 217Y.

First, nnoam5 nnoam> -

An area that each 73n has a door that opens to it, is like a

window sill between two m°3n, where carrying is MoR from 1

either side. It's considered the domain of both, because it is
. equally accessible to both msnm.

Second, 7 wa mS A mb -

If the area can only be reached by throwing upward from
each 73n, it is just like a wall between two myxn, and it's WOR
for both m73n to carry to and from it. Here too, equally
accessible, albeit with some difficulty.

2
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Third, Sw5wa mh Swbwa mb -
If both m~3n can access the area by lowering things into it,
we view it like a ditch between two M3, and is also MOR 3

for both. owhws M bww‘:\w: o

Fourth, npwamh nnoa mb -
If one 731 has a doorway, and the other requires throwing

upward, only the 93n with the doorway can carry to it. It's 4
considered their domain, because it's more readily accessible afalam) nrs ﬂp’ﬁ? ) '-”51
. for them. - -~
L d <

\

[}
4

Fifth, dwbwam nnoam -
If one 731 has a doorway and the other can access the area

5
only by lowering something, it belongs to the one with the 512}52}: nt‘” alalam) nr‘,

easier access - the doorway. N
\

]
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Sixth, 'Rn A2 MM MwHwI WS -
If one 931 can access the area by lowering down, and the
other by throwing up - 3

In this case there is a Machlokes:
PIOR IV 17 DN -
Rav says neither can carry to the area. Rav holds that the
degree of difficulty is equal.

‘ DWWV MY MR PINI IR HRIDWI -
Shmuel says the 13 that can lower things to the area can use
it, because lowering is considered nni1 W »WnN - an easier
form of usage than throwing upward which is nwpawmnon -
more difficult.

We will begin the next daf with an attempt to support
Shmuel’s opinion from our Mishnah.
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